1. R |8 & B

e 8 2 & 0 & K

L

D ELY

e = 22 % B |

A BEREBITESE167EN2E11E F1E ORTEITEIKHEEZY

L EBEEEH | THOBREEERE
2.ZH AN B
2o oE B & | (BAINNEHE

RHEXEDOEFR

Z KB BFHiI4TH13-3

I E O & W
( & % )

BEREEE @mHPFER)

I £ 0 15 fr

(BT (A BT | SADIETRER
ITEQOBH - ER | e

( & =01 ) =4[]

I =2 0 B = EEHI1EDEERE

(2 H o 8 %)

BHEETAEH (RO2-R06EF)

T #H (B8 )

(B 7 omom ) | TH2F4ATH
Cas m o) | #REsANA
EEH 20,600 .~ A (FHithE)
(5 #R%8) 1,359,600 M (FiiAH)

INTA—T AR
(17 ARR)

£/40 3,300 #4&
Hh5— "
11,240 [ (k=)

( ) IFLSMREIEZHDIGE




R ® ®83 =
(M)
#H % RESTEE T 5 fli# (Bik)
GRS (R 7 P %) N ) N E iR 21000 mH
FR24E3A 16 H F2F10% RN 11240
it 32,240 m
1T (A 3BT # 7 B 15 SRR (M4 (Biik)
TR G ek - m
2 e gE #£18 R 2 = . 18 K& 24
z HH wE |2 EH %
2| ABXEFAEH &5 (BiR) 288 (Bitk) 2| BEBXIIER S5 (Bitk) 2% (BiiR)
Ttk 27,700 F 27,500
1| () Y~ NT A= AR 23,890 9 | () 720 NT =2 AR 23,890
it 51,590 it 51,390
Ttk 20,600 F 26,000
2 | ) N NI = 2B O 11,240 RRSRE | 10 |(B) TURARE YRR [N Th—vu 2 23,890
it 31,840 it 49,890
St 26,000 IR
3| (R A~ ~ B NI =V AE} 23,890 11 NI =2V Agk
3t 49,890 3t
Tk =3 E 1k
4 | (BR) = F— NI A=< 2k 12 NI A=z Ak
3t 3t
Tk 27,000 E 1k
5 | () f R NT = AR 25,900 13 NT = AR
3t 52,900 3t
Tk =3 E 1k
6 | YU BT CH NT k= AR 14 NT =<
it i+
F ek 26,600 E iR
7T BRIV F NI F=V Ak} 23,890 15 NI F== Ak
it 50,490 it
F 26,800 E ik
8 | (Bk) AT NI F=<V AR} 23,890 16 NI F== Ak
it 50,690 it




